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o HHRE : Ex = mv¥/2

o FRERERE : En=F x S

o HHHVERSHT :v=v2gxh

o SEIHERET AHEE ST : F = 0.00785 Pd?

o I AFEER ) (MEfi ) : Fm=1 .2 E+/S

o FEENEEAEANHELT] - F = 3000 kW/iv
o AR/ NFIRIKIAEAERL  Erc = Erx C
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S 1. kPR
i i
m = 300 kg
v=1.0m/s
S=0.05m >
C =300 /hr Z
UNTWSE R
mv? 300 x 1.0%
Ex = 5 = > =150 Nm
Er = Ex = 150 Nm
Erc = ErxC = 150 x 300 = 45000 Nm/hr
_ 2Er  _ 2x15 _
o o 300 kg
FHZ G S SR A
MAD-3650 jHEEfE (T 28— 7
aTE 2. HHEMET 2 KR
i P
m = 300 kg
v=1.2m/s
S=0.05m
Sione | e
F=1000 N < 7
C =500 /hr
A PETRAER
. mv  _ 300x1.0°
Ex = T = T =216 Nm
Eo = FxS = 0.00785Pd*x S
= 0.00785 x 40 x 100° x 0.05 =157 Nm
Er = ExtEn = 216+157 =373 Nm
Erc = ErxC = 373x300 = 111900 Nm/hr
= 2 x 373 _
M. = 7 = 1.2 =518 kg
FHZ G S SR
MAD-4250 jHiEERE s —7Z
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it F e R
m =40 kg m =400 kg
h=04m v=1.0m/s
$=0.06m W= 1.5kW .
C =200 /hr HM=25 Z
l S$=0.075m 3
C =60 /hr
\ﬁ F\§
ARG AR BETREAGR
2 2
v = V2gxh = /2x981x04 =2.8 misec Ex = % = m =150 Nm
2 82 KW x HM )
Bo= W o 40X28 o m Eo = Fxg = WxXAM o 1800%25 ) 175 = 281 Nm
2 2 v 1.0
Eo = FxS =40x981x0.06=235Nm Er = ExtEp = 200+281 =481Nm
Er = Ex+Ep = 157+235 =180.5Nm Erc = ErxC= 481x60 = 25860 Nm/hr
2E+ 2 x 481
Ec = ErxC = 180.5x200 =36100 Nm/hr M= 5 = — 5z =92kg
w, = 2 2x1805 S RS TR -
V 2.8 MAD-4275 g% e —%
EENE VA NERRE S D
MAC-3660-1 JHFEfEE 2 —Z
RG] 4. HHERET )2 B bTRE aTE] 6. fEpHEER
o R {5 F R
m =40 kg m = 150 kg
h=03m h=03m
$=0.025m $=0.075m
P =5bar a=30°
d =50 mm C =200 /hr
C =200 /hr
v =1.0 m/sec l
AN ko)
\\ﬁ F\‘ v = +vV2gxh =v2x981x0.3 =243 m/sec
DA ETRAGTR - D) 5 ST
mv d
2 2 Exk = — = ———— =443Nm
B = - = w =20 Nm ‘ 2 2
Eb = FxS =mxgxSxsina
Eo = FxS = (mg+0.0785Pd*) xS
X = 50 x 9.81 x 0.075 % sin30° = 55.2 Nm
= (40 x 9.81+0.0785 x 5 x 50%) x 0.025 = 34.3 Nm
Er = ExtEp = 433+552 =498.2Nm
Er = ExtEpr = 20+34.3 =54.3 Nm
Erc = ErxC = 4982x200 =99640 Nm/hr
Erc = ErxC = 543x200 =10860 Nm/hr
2E 2 x 498.2
2E, 2x54.3 M. L = S Tf - 168.7kg
M. = <7 = — 5z  =1086kg V 243
e i ' HZA SR B A -
AR B R MAD-4275 TR
MAD-2525 HiE % s — %
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[EOREEC3EE o G
mf20kg m = 150 kg
w = 2.0 rad/s v=0.5m/s %
Rs=0.8m S=002m QO000OAOY 7
A=10m C=120/hr
B=0.05m
S$=0.016m
C =100 /hr
N FETERER
2+B? 2 2 ISR R S
| m(4,1A2+B ) _ 20(4x 11_2 +0.05) _ o7 kg.m? AEWrE ,E.%Z.S'E 2
lw? 6.67 x 2.07 Bc = % - 15020'5 =18.75Nm
Ex = % = 2RSS =1334Nm
Ep = FxS=mguxS=150x9.81 x 0.25 x 0.02 = 7.35 Nm
6 = S5 = 0.04 =0.05 rad °
Rs 0.8
E, = E+Ep = 18.73+7.35 =26.1Nm
Eb = Tx@ = 20 x 0.05 =1.0Nm
Er = EcEo =  1334+10  =14.34Nm By = HC= AN A = SR s
. 2Er _ 2 x26.1 _
Ec = ErxC =  1434x100  =1434 Nm/hr M. = 2 = 052 =208.8kg
FHA GRS RS A
v = wxRs = 2.0x0.8 =1.6 m/s MAC-2020-3 JHIEEEE 2 —%
_ 2Er  _ 2x14.34 _
M. = V2 = = =11.20 kg
metﬁma%%%@ﬂa :
MAD-2016 JHEE#EET 25—
AL 8. HHEME T . e oy FE ATELG 10, B HEB) )2 heiEE
[EOREEC3EE T 5 B T
m = 200 kg m = 40 kg aQo
w = 1.0 rad/s A=0.5m
T=100 Nm B=0.05m
R=05m w = 2.0 rad/s
Rs= 0.4 m T=10Nm
S=0.04m Rs= 0.4 m
C =100 /hr L % ! S=005m
% 2 R C =50 /hr
. B s ‘7/ BN
UNGWSENCE RS UNGWSENCY RS
L. mR L 200x08  _ am? | M(4A*+B?) _ 40(4 x 0.5+0.05") _ 3.34 kg.m?
2 2 ’ 12 12 ' '
2 2 2 2
B« = W - X100 _q55Nm Ec = W - 334x20  _g7Np
2 2 2 2
_ s _ 0.04 _ _ s 0.05 _
6 = Re = 04 0.1 rad 0 R 04 0.125 rad
Eb = Tx8 = 100x0.1 =10Nm Eb = Tx@ = 10%x0.125  =1.25Nm
Er = ExtEp = 125+10 =225Nm Er = ExtEp = 6.7+1.25 =8 Nm
Erc = ErxC = 225x50 =1125Nm/hr Ec = ErxC = 8 x 50 = 400 Nm/hr
v = wxRs = 1.0x04 =0.4 m/s v = wxRs = 2.0x0.4 =0.8m/s
_ 2E+ _ 2x%x225 _ _ 2E+ _ 2x%x8 _
Me = V2 - 042 =281 kg Me = Vz = 082 =25 kg
FHA G EAG AR - FHA G EAE AR -
MAD-2540 JH{FE BT 2 MAD-1416-2 jiiEEEET 28—
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